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8t A 3,339,831 3,296,435 43,3% | & g 3,339,831 3,296,435 43,3%
& 2 = 0 0 O|Hl 8 Xt & A &t 20,000 20,000 0
2 x = 0 0 0|8 X & A & 4 50,000 90,000 40,000
Xt J = 0 0 oje =& 2 9 d 0 0 0
B ot xTz ¥ 5 18,000 50,000 A3R,00(J1 &= & 4 0 0 0
OE=d233s % 2,850,000 2,700,000 150,000 | Ol & = 3,000,000 2,850,000 150,000
o X 2 3 # 389,042 483,518 A94,476 | Of xl 2 269,831 336,435 /66,604
Ol = = 0 0 O|Xty 234 s 0 0 0
o X = ¢ 81,289 61,717 19,572 | 0l &= 2 & 2l 2 & & 0 0 0
B8 & ¢ 1,500 1,200 30|21 E X = 0 0 0
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200 Mol 3,125 2,167 958
210 BAEHI2= 1,625 967 658
216 Ol Xt==¢ 1,625 967 658
216-01  ZBZ0U=0lk== 1,625 967 658

O 2302 o0lkt==¢ 1,625,000 = 1,625
220 SAI A= 1,500 1,200 300
224 J|Et==¢ 1,500 1,200 300
2407 2= 1,500 1,200 300

O ZSXNGIEHYH ttd=a 1,500,000& = 1,500
700 E8d=USEUHR AN 3,336,706 3,294,268 42,438
710 B2 S 407,042 533,518 A126,476
713 sXigada= 18,000 50,000 A32,000
713-01  B2I2tsk3dals=g 18,000 50,000 A32,000

O 8ita dazs=+ 18,000,000& = 18,000
714 WxI132sl= 389,042 483,518 AN, 476
71401 OIXI=al= 389,042 483,518 AN, 476

O J12 Wxl3al= 389,042,000& = 389,042
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O sgiaedstli=s &= &=
2,850,000,000& = 2,850,000
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12 gt SN (H2SEEHIIF) 70,000 110,000 40,000
MBS 28 70,000 110,000 240,000
7 QI2H0| & 10,000 10,000 0
02 QIZHBAAHEE 10,000 10,000 0
O XaADI2 AEs] 8§ =
2 QIZtXt=01M 10,000 10,000 0
01 QIEN=AMLEE(XHHE) 10,000 10,000 0
O 2= NUHEAgE & a1 X 10,000,000 #1044 =
1 8X= 50,000 90,000 240,000
01 BIZtEX= 50,000 90,000 240,000
O elteXlt=
- NaSE dadls Xt 5,000,000 10 =
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602 Ol XI2 269,831 336,435 66,604
01 LIS 269,831 269,831 336,435 66,604

O 213 oxI3 269,831,000 = 269,831
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SN (MEE2EII13) 3,000,000 2,850,000 150,000
704 OlIEtS 3,000,000 2,850,000 150,000
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O SEMHAEBIIZ o3 3,000,000,0002 = 3,000,000
oz g A 3,339,831 3,296,435 43,3%
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X 5,325,804 300, 000 0 0| 4,075,874 0 653, 149 296,841 2,466,945 0| 2,466,945 0 0 0 0 2,858,919
20199 & 79,476 0 0 0 22,682 0 35,153 21,641 7,3% 7,33% 0 0 0 0 0 72,141
202049 &= 152,171 0 0 0 88,09 0 34,984 29,088 11,320 1,320 10,000 0 0 0 0 140,851
20219 % 101,934 0 0 0 82,246 0 12,022 7,666 17,283 12,283 5,000 0 0 0 0 84,651
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